Throughput: 3n-skx-xxv710-64b-2t1 c—ipsec-ip4r&ting-base-sca|e-dpdﬂpdr i

7.00
6.00
—
5.00
o
=3
Q.
=
+ 4.00
=] ——
Q.
<
50
S
e
L
= 3.00
R ———
9
X
(S}
[
o —
—
2.00
1.00
0.00
1 2 3 4 5 6
Test Cases [Index]
O 1.(07 runs) ethipdipsec4tnlsw-ip4base-int-aes256gcm
[0 2.(07 runs) ethipdipsec4tnlsw-ip4base-int-aes128cbc-hmac512sha
[0 3.(07 runs) ethip4ipsec1000tnisw-ip4base-int-aes256gcm
[ 4. (07 runs) ethip4ipsec1000tnisw-ip4base-int-aes128cbc-hmac512sha
5. (07 runs) ethip4ipsec10000tnisw-ip4base-int-aes256gcm
[C] 6. (07 runs) ethip4ipsec10000tnisw-ip4base-int-aes128cbc-hmac512sha


https://plot.ly/

